MATHEMATICS FORM 2
MARKING SCHEME

| Evaluate: = += +1 / 2
2—3——
(2mks)

2.Letr=0.1515
100r=15.1515

99r=15.0000
99 33
3. Simplify (2mks)
ay—ax
bx—-by
a(y-x)=a(y-x) =a=-a
b(y-x) -b(y-x)-b b
4. T D H
15 8 8
24 10

15/24x 8/10x8= 4 days
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cm
4cm

16cm 120°

6. 2b+3s=410
3b+2s=390
4b+6s=820
9b+6b=1170
5b+0=350
5b=350
5 5
2x70+35=410
140+35=410
3s=410-140
3s=270
3 3
S=90
Beans=70bags
Salt=90bag

7a). Let the exterior angle be x
X+2x=180

3x=180

X=60°

no of sides

360/60=6

b) Hexagon

8. Tan 24°=h/50
50 tan 24°=H

Al = 0/360m 12
=120/360x3.142x20*=418.933

=2.68.117cm?
Area of shaded

region.=418.933-268.17
=150.816cm?
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Tan 20° = H/(50 +x)
(50+x) tan 20=H
18.1999+0.364x=22.26
0.3640c=22.26-18.199
0.364x=4.061
X=4.061

0.364
=11.16m

9. Volume of water=Ah
A=1/2(1x3) x 30= 60m?
V=60m? x 8m=480m>
1m*=1000L
480m3=?
480m3 x 1000L

lm?
=480,000L

10. Total vol = 15 litres = 15000cm?3

Tota; mass = 3000g + (12000 x 0.8)g
=3000g + 96009 = 126009

. M 12600
Densty = — = —————
V  15000cm
=0.84g/cm?

11. VSF 4752 =3.375
1408

LSF=33.375=1.5

ASF = (1.5)
Area of larger cylinder

=352 x 2.25=792cm?

SORTOE

(2—1)X X (2—3)1-X:

M1

M1

Al

M1

Al
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25-x=(-3)+3x=5

2x =5+3
8
X ==
2
x =4
13.
1 1 5 M1

1. —f-—=>

2 8 8

2 3 6

— X — = —

3 8 24

24

- x 3200 = Sh.12,800 February salary Al
1 x 12800 = Sh.6,400 School fees

2 B1

14.

2. y>2 B1
X>0 B1
y<—X+8 Bl

15. 10,000 x 82.4 = 824000 M1
10,000 x E = 750,000 M1

1.4
824000 - 750000 =
Sh.74000 Al
16. L.C.M=12 24x-16-12x+6=12-10x
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24x-12x+10x=12-6+16

22x=22
X=1
SECTION II
17 a)
1.75 3.5 1.75
10
x=9.85
3.5
£=9.85
9.85 1
L=19.69

T.S.A =nr? + (nRL — rrL)
=m(r?+ RL —rL)
=2 (1752 +3.57x 19.69 - 1.75 x 9.85) M1

22
:7X54.18 Ml
=171.1cm? Ml
Al

b) Vol = %nR2H - gnrzh
H=20 }
h=10 Bl
~ (R°H - °h)
1 22

= XZ(3.57x20-1.75° x 10)

22 7 Ml
g (245 —30.625) M1
X 214.375
224.6 cm® Ml
0.2246 litres Al
18a) | i) 10.30
-9.00
1.30
Jane travelled = % x 15=225 Ml
Distance before Tom starts journey
Relative speed = 15 + 25 = 40km/hr
TTTM==" M1
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=0.4375 hrs B1
15 x 0.4375 = 6.5625km
22.5+6.5625 Al
=29.0625km
i1) They met after 0.4375 hrs
=0.4375x 60 M1
= 26 minutes
10.30
+ 26 M1
10.56am
111) Jane had travelled 29.0625km B1
=40.00 —29.0625 B1
=10.9375km
b) 2257~ 0.91146 hrs
0.91146 hrs = 55 minutes
Add rest time = 10 minutes M1
= 65 =1 hr 5 minutes
10.56
+1.05 Al
12.01 pm
10
191 a) " e | &I ‘[ —scale
i 257 » V8, ;-Pc:wnt V74
\ | 8y | Peine P
f Ba | Point -
LB ; Peoint s
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b)
i) Distance R from P
=13.4cm £ 0.1
But 1 cm rep 20km = 13.4 x 20 = 268km

i1) Bearing of Q from S
034°+001°

ii1) Distance of Q from S

12.4cm £ 0.1

But 1cm rep 20km = 12.4 x 20 = 248km
iv) How far P is north of S

=4.5cm

But 1cm rep 20km = 4.5 x 20 = 90km

Bl

Bl

Bl

Bl
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20.

-1n€ mark oI 1UU candidates I0r mathematics examinaton were aistributed as 1oliows.

marks No of Mp(x) x.f (o4
candidates
30-34 5 A | o oS
35-39 24 EYs BEE¥ 2
40-44 26 > |098 5
45-49 24 H7 I X& g
50-54 13 S 676 9
55-59 6 <F 4R 98
60-64 2 62 ) 94. 100
Hlo
(a)Calculate
(i) The mean mark (2mks)
N‘)ean = %Ffl = "tq'l_é%
i+ |
ii) The median (3mks)
* L8 - Ol 29.S + #0365
&
39.s Jrégf%qf : 3985
(b) On the grid provided, draw a histogram. (3mks)

© Un e same grapn, draw a trequency polygon.

(1mk)
(d) Find the modal mark. (1mk)
mocpﬂ/' clas = #o- wu
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21 | a)

Ml
Al
<PAQ =<PAM + <QAM
<PAM =sinf1 = 2 — 0.4286 M1
10.5
Sin "' (0.4286) = 25.38° Al
< QAM = <PAM = 25.38
—<LAP = 25.38x2=50.76
b) <PBQ =< PBM + <QBM
45
<PBM = sinx] = 8—4—0.5357 M1
Sin! (0.5357) = 32.39°
< PBM = <QBM = 32.39°
<PBQ =32.39"x 2 = 64.78 Bl
MIM]1
c)i) B1
Al

O TF

area of segment = area of a section — area of D

Taking (1)
_ [50'26 X3.14(10.5)? } - B X10.5sin 50.76}
=48.84 —42.69 = 6.15cm?
Taking (ii)
:[64'28 x3.142x(8.4)2} _ B X8.4X8.4Xsin 64.78}

=39.89 -31.92 =7.97cm?
=(6.15+7.97) cm? = 14.12cm?
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22.a) Kamau Tatwa Makau

100,000 80,000 50,000
10 : 8 : 5 B1
5 =20,000
23 M1
1=2
20,000 x 23
5 A1
= 92,000
(a) (i) New Ratio
5:4:3 B1
120 x 92,000
100 B1
New profit = 110,400
Kamau’s share =5 x 110,400 M1
12
= 46,000 A1
(i) Tatwa’s share =4 x 110,400 M1
12
= 36,800 M1
Difference = 46,000 — 36,800
= 9,200 A1l
10
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